
Puissances de Dix (F)

90 × 1 = 65 × 1 =
90 × 0,1 = 65 × 0,1 =
90 × 0,01 = 65 × 0,01 =
90 × 0,001 = 65 × 0,001 =
90 × 0,0001 = 65 × 0,0001 =

22 × 1 = 98 × 1 =
22 × 0,1 = 98 × 0,1 =
22 × 0,01 = 98 × 0,01 =
22 × 0,001 = 98 × 0,001 =
22 × 0,0001 = 98 × 0,0001 =

79 × 1 = 61 × 1 =
79 × 0,1 = 61 × 0,1 =
79 × 0,01 = 61 × 0,01 =
79 × 0,001 = 61 × 0,001 =
79 × 0,0001 = 61 × 0,0001 =

53 × 1 = 40 × 1 =
53 × 0,1 = 40 × 0,1 =
53 × 0,01 = 40 × 0,01 =
53 × 0,001 = 40 × 0,001 =
53 × 0,0001 = 40 × 0,0001 =

96 × 1 = × 1 =
96 × 0,1 = × 0,1 =
96 × 0,01 = × 0,01 =
96 × 0,001 = × 0,001 =
96 × 0,0001 = × 0,0001 =
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Puissances de Dix (F) Solutions

90 × 1 = 90 65 × 1 = 65
90 × 0,1 = 9 65 × 0,1 = 6,5
90 × 0,01 = 0,9 65 × 0,01 = 0,65
90 × 0,001 = 0,09 65 × 0,001 = 0,065
90 × 0,0001 = 0,009 65 × 0,0001 = 0,0065

22 × 1 = 22 98 × 1 = 98
22 × 0,1 = 2,2 98 × 0,1 = 9,8
22 × 0,01 = 0,22 98 × 0,01 = 0,98
22 × 0,001 = 0,022 98 × 0,001 = 0,098
22 × 0,0001 = 0,0022 98 × 0,0001 = 0,0098

79 × 1 = 79 61 × 1 = 61
79 × 0,1 = 7,9 61 × 0,1 = 6,1
79 × 0,01 = 0,79 61 × 0,01 = 0,61
79 × 0,001 = 0,079 61 × 0,001 = 0,061
79 × 0,0001 = 0,0079 61 × 0,0001 = 0,0061

53 × 1 = 53 40 × 1 = 40
53 × 0,1 = 5,3 40 × 0,1 = 4
53 × 0,01 = 0,53 40 × 0,01 = 0,4
53 × 0,001 = 0,053 40 × 0,001 = 0,04
53 × 0,0001 = 0,0053 40 × 0,0001 = 0,004

96 × 1 = 96 × 1 =
96 × 0,1 = 9,6 × 0,1 = 131,2
96 × 0,01 = 0,96 × 0,01 = 13,12
96 × 0,001 = 0,096 × 0,001 = 1,312
96 × 0,0001 = 0,0096 × 0,0001 = 0,1312
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